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A S e et | 88,805,160 82,227,000 (B) 6,578,160
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EERTRERESEEEIS No. 1
RETZEEAD R EFEE
- > — > 1 R
- B w = s T o5 s 4 o5 = 5|14 %E -
[EREIE -y
AT .o =X 50,220,345 .o = 51,003,225 782,880 HI%H
i L .o = 6,270,459 .o =X 6,270,459
Feha i 15 .o =X 7,354,660 1.0 =X 7,354,660
[ERCN Xt 63,845,464 64,628,344 782,880 HE%H
Sk
(R R 2 .o =X 2,475,729 .o = 2,491,751 16,022 H4%H
Eik N EgL by .o =X 7,520,555 .o =X 7,564,659 44,104 HY%R
— e B .o =X 7,458,015 1.0 =X 7,542,822 84,807 H4%H
s E 17,454,299 17,599,232 144,933 Hg9%HE
&t 81,299,763 82,227,576 927,813 H4%H
X EHeRA (T FAmk) TFHAMYVET 81,299,000 82,227,000 928,000 HI%H
TH B SR FE 24 %A 6,503,920 6,578,160 74,240 H%E
WA (L) 87,802,920 88,805,160 1,002,240 H4%H
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A |BEHETE 1.0 =X 41,015,884 1.0 =X 41,243,694 227,810 H4%H
B |#MELE .o = 5,269,933 .o ==X 5,700,353 430,420 HY%RE
C |/tHBH k& T % 1.0 K 3,083,106 1.0 X 3,083,106
D |ffR T 1.0 =K 851,422 .o = 976,072 124,650 HE%RE

&t 50,220,345 51,003,225 782,880 HI%HE




2% FEBFTRERESEHMETS No. 3
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A |BEIE
1 |EBGR T 1.0 K 1,239,093 1.0 =X 1,239,093
2 |+ 1.0 =K 815,371 1.0 =X 815,371
3 |HIZETEH 1.0 =K 162,400 1.0 =X 162,400
4 |- T 1.0 =K 2,744,316 1.0 =X 2,744,316
5 M 1.0 =K 1,533,422 1.0 =X 1,533,422
6 |Bkfh L 1.0 =K 1,567,551 1.0 =X 1,567,551
7 |8kELE 1.0 =K 7,040,663 1.0 =X 7,040,663
8 |HMELEH 1.0 =X 1,922,940 1.0 X 1,922,940
9 (BT 1.0 =X 99,864 1.0 X 99,864
10 |ZAVTH 1.0 K 76,390 1.0 =X 76,390
11 [RLE 1.0 K 615,912 1.0 =X 615,912
12 [BRE &N TH .o K 1,230,560 1.0 =X 1,230,560
13 |&ETIE 1.0 =X 4,162,082 1.0 =X 4,343,452 181,370 H4%H
14 | TEHE 1.0 =K 624,646 1.0 =X 624,646
15 [ REGEE T H 1.0 =X 1,125,600 1.0 X 1,125,600
16 |[«EildE T 1.0 =X 3,798,000 1.0 X 3,798,000
17 |H¥ L% 1.0 K 136,776 1.0 =X 136,776
18 [T 1.0 K 103,562 1.0 =X 103,562
19 |NETEH 1.0 =X 4,024,496 1.0 =X 4,070,936 46,440 Ha%E
20 |2=y bR OZOf T3 1.0 K 7,992,240 1.0 =X 7,992,240

aEk 41,015,884 41,243,694 227,810 %




2 EFEBTRERESEHMETSE No. 4
ERETERA] ERETEREA] -
# f wE s B o@m | ME B B sm |EUEEER WE
NEIE
ST 1.0 =& 5,269,933 1.0 =& 5,700,353 430,420 H4%H
&t 5,269,933 5,700,353 430,420 A%




2 FREUTRERESEHEEIE No. 5
ERETEREA] ERETEREA] =
# B w2 48 Bl SE 8@ 48 Bl SE em |EUEEE WE
C |BEMAEFHIELIS
1 |EHRER T 1.0 =X 66,636 1.0 = 66,636
2 |&fETH 1.0 =X 3,016,470 1.0 &K 3,016,470
&t 3,083,106 3,083,106




2 FREUTRERESEHEEIE No. 6
ERETERA] ERETEREA] o
# f wE s B o@m | ME B B e@m |EUHEEE WE
fRIATE
LhzblL 1.0 =X 851,422 .o = 976,072 124,650 H4%H
&t 851,422 976,072 124,650 H9%H




